

۱۸/۵

| نام و نام خانوادگی ..... شماره دانشجویی ..... پاسخنامه تشریحی تکلیف شماره ۱/۱ کلاس ۱/۲۵                                                                                                                                                                                                                                                                                                                                                                                                                                |   |
|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---|
| <p>الف) <math>\lim_{x \rightarrow 2^+} \frac{x^2 + 5}{x+1} \rightarrow \frac{x^2(2) + 5}{2+1} = \frac{9}{3} = 3</math> ✓</p> <p>ب) <math>\lim_{x \rightarrow 2^-} \frac{x^2 + 5}{x+1} \rightarrow \frac{x^2(2) + 5}{2+1} = \frac{9}{3} = 3</math> ✓</p> <p>ج) <math>\lim_{x \rightarrow 2} \frac{x^2 + 5}{x+1} \rightarrow \frac{x^2(2) + 5}{2+1} = \frac{9}{3} = 3</math> ✓</p> <p>د) <math>\lim_{x \rightarrow 2} \frac{x^2 + 5}{x+1} \rightarrow 0</math> ✓</p>                                                     | ۱ |
| <p>الف) <math>\lim_{x \rightarrow 2^-} f(x) = f(2^-) = 3</math> ✓</p> <p>ب) <math>\lim_{x \rightarrow 2^-} [f(x) - 2] = [f(2^-) - 2] = [1] = 1</math> ✓</p> <p>ج) <math>\left[ \lim_{x \rightarrow 2^-} f(x) - 2 \right] = f(2^-) - 2 = 1</math> ✓</p> <p>د) <math>\left[ \lim_{x \rightarrow 2^+} f(x) - 2 \right] = f(2^+) - 2 = 1</math> ✓</p>                                                                                                                                                                      | ۲ |
| <p>الف) <math>\lim_{x \rightarrow 2^-} \frac{x^2 + 1}{x} = \frac{x^2(2) + 1}{2} = \frac{5}{2}</math> ✓</p> <p>ب) <math>\lim_{x \rightarrow 2^-} \left[ \frac{x^2 + 1}{x} \right] = \left[ \frac{5}{2} \right] = \left[ \frac{1}{2} \right] = \left[ 0 \right] = 0</math> ✓</p> <p>ج) <math>\left[ \lim_{x \rightarrow 2^-} \frac{x^2 + 1}{x} \right] = \left[ \frac{5}{2} \right] = 0</math> ✓</p> <p>د) <math>\left[ \lim_{x \rightarrow 2^+} \frac{x^2 + 1}{x} \right] = \left[ \frac{5}{2} \right] = 0</math> ✓</p> | ۳ |
| <p>الف) <math>\lim_{x \rightarrow 1} \frac{x-5}{x^2-9x+5} \rightarrow \frac{x-5}{(x-5)(x-1)} = \frac{1}{x-1} \rightarrow \frac{1}{0^+} = +\infty</math> ✓</p> <p>ب) <math>\lim_{x \rightarrow 1} \frac{x-5}{x^2-9x+9} \rightarrow \frac{x-5}{(x-3)^2} \rightarrow \frac{-1^+}{0^+} = -\infty</math> ✓</p> <p>ج) <math>\lim_{x \rightarrow 1} \frac{x-5}{x^2-9x+9} \rightarrow \frac{-1^-}{0^+} = -\infty</math> ✓</p>                                                                                                  | ۴ |
| <p>الف) <math>\lim_{x \rightarrow 9^-} [x] - [-10^+] = 9 - (-10) = 19</math> ✓</p> <p>ب) <math>\lim_{x \rightarrow 9^+} [x] - [-10^-] = 9 - (-10) = 19</math> ✓</p> <p>ج) <math>\lim_{x \rightarrow 9} \left[ \frac{-1}{x^2} \right] = [-15^-] = -15</math></p> <p>د) <math>x = \left( -\frac{1}{x} \right)^{-}</math> صحیح</p>                                                                                                                                                                                        | ۵ |

ب)  $\lim_{x \rightarrow (-\frac{1}{14})^-} \left[ \frac{-1}{x^2} \right] = -14$

$x < -\frac{1}{14} \rightarrow x^2 > \frac{1}{14} \rightarrow -x^2 < -\frac{1}{14} \rightarrow -\frac{1}{x^2} > -14$

|                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                    |           |
|--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-----------|
| <p> <math>\lim_{n \rightarrow \infty} [-n^2 + 6n^2 + n] \rightarrow y = -13n^2 + 13n^2 = 13n^2(n-1)</math> (الف) </p> <p> <math>\begin{matrix} 1^+ \\ 1^0 \\ 1^- \end{matrix} \Rightarrow \begin{matrix} [^+] = n \\ [^-] = n \end{matrix}</math> ✓ </p> <p> <math>\lim_{n \rightarrow \infty} [-n^2 + 6n^2 + n] \rightarrow [^+] = n</math> ✓ </p> <p> <math>\lim_{n \rightarrow \infty} [-n^2 + 6n^2 + n] \rightarrow [^-] = n</math> ✓ </p>                                                                                                                     | <p>٦</p>  |
| <p> <math>\lim_{n \rightarrow \infty} \frac{ n^2 - 1 }{n^2 - 4}</math> </p> <p> <math>\begin{matrix} r^+ \\ r^- \end{matrix} \rightarrow \frac{n^2 - 1}{n^2 - 4} = \frac{(n-1)(n+1)}{(n-2)(n+2)} = \frac{1}{5} \cdot n</math> (الف) ✓ </p> <p> <math>\frac{-1}{5} = -\frac{1}{5}</math> ✓ </p> <p> <math>\lim_{n \rightarrow \infty} \frac{ \sin n }{\sin 2n}</math> </p> <p> <math>\begin{matrix} r^+ \\ r^- \end{matrix} \rightarrow \frac{\sin n}{\sin 2n} = \frac{\sin n}{2 \sin n \cos n} = \frac{1}{2 \cos n} = \frac{1}{2(-1)} = -\frac{1}{2}</math> ✓ </p> | <p>٧</p>  |
| <p> <math>\lim_{n \rightarrow \infty} \sqrt{\cos n}</math> </p> <p> <math>\begin{matrix} r^+ \\ r^- \end{matrix} \rightarrow \sqrt{\cos n}</math> </p> <p> <math>\sqrt{n-2\sqrt{n}}</math> </p>                                                                                                                                                                                                                                                                                                                                                                    | <p>٨</p>  |
| <p> <math>\lim_{n \rightarrow \infty} \frac{[\sin n]}{n^2(n-1)}</math> </p> <p> <math>\frac{-1}{\infty} = \frac{-1}{\infty} = \frac{1}{\infty} = 0</math> ✓ </p> <p> <math>\lim_{n \rightarrow \infty} \frac{n^2 - [n^2]}{n - [n]}</math> </p> <p> <math>\begin{matrix} r^+ \\ r^- \end{matrix} \rightarrow \frac{n^2 - n^2}{n - n} = \frac{0}{0} = 1</math> ✓ </p>                                                                                                                                                                                                | <p>٩</p>  |
| <p> <math>y = 10n^2 - 10n^2 = -10n^2(n-1) = -10n^2(n-1)(n+1)</math> (الف) </p> <p> <math>\begin{matrix} -1 \\ 0 \\ 1 \end{matrix} \Rightarrow \begin{matrix} + \\ + \\ - \end{matrix}</math> </p> <p> <math>y = 10n^2 - 10n^2 = 10n(n^2 - 1) = 10n(n-1)(n+1)</math> ✓ </p> <p> <math>\begin{matrix} -1 \\ 1 \\ 1 \end{matrix} \Rightarrow \begin{matrix} + \\ + \\ - \end{matrix}</math> </p>                                                                                                                                                                      | <p>١٠</p> |

|    |    |    |   |   |    |
|----|----|----|---|---|----|
| x  | -∞ | -1 | 0 | 1 | +∞ |
| y' | -  | +  | + | - |    |
| y  | ↘  | ↗  | ↗ | ↘ |    |

